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7ot & FIT AT Q. 014-018
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[Contd...




feea wTren & & 5000 HreT A g aifrs Sard
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fder : 9% 797 & T R &1 9k ggq a1 daw | Instructions : Each question has four options.

@ ) T & 1998 g [ a5 gk st OMR
FIYRABT IT TSI I @) BT )

fRym - *B* : it

026 =19 ¥, w1 199 &1 A i) & qé) Prewwr

wME?
(1) ICC (2)  CLXXXXIX
/LZ) CXCIX # 1cCceb

027 Au 3wl ¥ wam } T F@n
1<~

- (XXI - XV) - VI + MCLXXIII

g s quac 2 7
B MCLXXNI  (2) MCLXVI
(3) MCL (4) MCXLII

028 &ty ot B 45 fedaer @ iy | TeEr

%llz%thaﬁﬁffazﬁﬁmw(wff)
wm?
a1 9 2 12
3716 4 20

u

% 029 T3 40 frve § 24 sl 1 g e e 2 19l

g & oo ey 4 e 7@ 2 o o g

e T & ¥ 5 fba qg (e A) am

% 1) 28 ) 32

‘o ) 36 4) 38

15

187030 o o g ¥ fore s A @l A
19 T 500 T = 136 T 135,50 B
% forg,  30.50 wemi % R, T3.75 190 %
frg, T 48 M & feeat & fw qan
¥ 142 waifirdht afe % g g sws

. . one correct answer to each
There is only one correct :
question. Choose the MOST APPROPRIA TL‘
option and darken/blacken the corresponding
circle on the OMR Answer Sheel.

SECTION - ‘B’: MATHEMATICS

026 Which of the following is the correct
representation, using Roman Numerals of
the number 199?
(1) 1CC )
(3) CXCIX @)

CLXXXXIX
ICCCD

027 A number written using Roman Numerals
(XXI - XV) - VI + MCLXXIII

is equal to
(1) MCLXXIII (2) MCLXVIL
(3) MCL (4) MCXLIII

028 Harish drives his car at a speed of
45 km/hour. How much time (in minutes)
will he take to drive 12 km?

1) 9 2) 12
3) 16 4) 20

029 Raman covers a distance of 24 km in
40 minutes. If he increases his speed
by 4 km/hour, then how much time
(in minutes) will he take to cover the
same distance?
(1) 28
3) 36

2) 32
4) 38

030 Amrita went to a market for purchasing
stationery items for her son. She carried
% 500 with her. She paid T 135.50 for the
notebooks, ¥ 30.50 for pens, T 3.75 for
erasers, T 48 for a box of colours and
% 142 for a Geometry box. How much

foertr Tftr S et 2 7 is left wi 5
(1) T13225 @) 142 Wne;lfzzegswnhher('z) 2142
(37 14025 4) 14575 () T14025  (4) T147s
s"y HI/OLABH/6/24_A] .§o 6
\ % 6)\4( '6:0 )O fq-ﬂg [Contd...
{ 5 ) 3319‘ %
=2 s

031 af¥ 12, 15,19, kam (k + 5) S & siraq

By aksmamd:
(1) 3 @) 5
VeSO @) 135

032 48 fFm, 50 fem, 53 fem, 55 fwn @ar 49
fpm wT Ay e frsi a1 ofed AT R
(1) 50 fepetram
(2f 51 fetm
(3) 52 fearam
(4) 53 fereiom

033" 9 Ru wui & w3 ol I faea g
T - I & et Yand, us @ arfrs famgaf wX
wfreda BT awdt 81
F - I1: 1  arfre Y@l Us fag @ gt o
& E

5,19,k
031 If the average of numbers 12, 1

is:
and (k + 5) is 13, then the value of ks
(1 3 @ 5
(€) @ 135

032 The average weight of five friends
weighing 48 kg, 50 kg, 53 kg, 55 kg and
49 kg, is :
(1) S0kg
(2) Slkg
(3) S2kg
(4) S3kg

033 Read the given statements and choose the
correct option:
Statement - I: Two distinct lines can
intersect in more than one point.
Statement - II: More than two lines can

pass through one point.

(1) dawsalaat
(2) Fa@wEANEAE
3) NPT TAE

&) A Bu I §

034 ’Jﬁx=306ﬁ‘(y=120?ﬁﬁ16(f+5]+1

B AN §:
A1y 85 () &4
3) 21 @ 17

HI/OLABH/6/24_A ]

(1) Only statement I is true
(2) Only statement II is true
(3) Both the statements are true

(4) Both the statements are false
034 If x = 30 and y = 120, then value of

16(i+sj+1 is:
y

(1) 85 2) 84
3) 21 @ 117

7 [Contd...



035 o ¥ T 25,000, 6% a1 T Q, 4 &
R EHRY W W IUR | g 4 ad

qyerq et TR g ?
(1) ¥30.000 ) X31,000
(3) ¥31.800 4 T31920

036 9% JT¥F T A YR =Tt UX Ry st &,

¥ 1.800 # Tf, T 2,610 & s ?

1 4 }Z) 5

(3) 6 @) 4=
2
037 & ¢ sl & g B
z‘aﬁt 2{H
43 43
> 439 430 .
23 : >
43 439 290
430 499
2 {2
(1) 323 (2) 40
3y 48 3 4) s2%d

038 f@t 50 =Y. Yo a1l U TER &5 % 6 et
RN ¥ 1 gy 160 . 7 qem 120 8. 4R ww
HTAAHT & F 2 TFHT A ¥ 1 B aifvrw
T 7@ e & o} fha afts (. %)

(1) gfy, 8o+ £2) Ry, 80 .
(3) g, 654 4) =, 40 &
HI/OLABH/6/24_A ] 8

035 Joscph borrowed ¥ 25,000 on simple
interest at the rate of 6% per annum for 4
years. How much did he pay at the end of
4 years?

(1) 30,000
(3) 31,800

@) 31,000
4) 31,920

036 In how many years will a sum of ¥ 1,800
become ¥ 2,610 on simple interest at the
rate of 9% per annum?

(1 4 @ 5

3 6 @ 41

2

037 The perimeter of the given figure, is:

2cm/\20m
4cm 4cm
2em 4cm —4cm 2em
2cm 2cm
4cm |4em
4cm 4cm
2emM2cm
(1) 32cm 7(2) 40cm
(3) 48cm

C2(4) S2em

038 Pinky runs around a square field of side
50 m and takes 6/rounds. Shruti runs
around a rectangular field of length
160 m and breadth 120 m and takes 2
rounds. Who covers more distance and
how much more (in'm)?

(1) Shruti, 80m ,(2) Pinky,80m

(3) Shruti, 65m —i(4) Pinky, 40 m

[Contd...

039 4 st} o wad 9L dear aun 3 o B FE
B ge & A
(1) 10000 2)
43 10099 @)

10110
10999

040 0,2, 5, 3 e 1 i o @ HTH, T A
5 of@f % GEd ¥ qun GIQ VIS FE HN

I
(1) 45555 (2) 44444
(3) 43205 @ 42975
041 3wl & @ @G g 3 A v
¥? (
(1) 518932 27 117342
(3) 213454 (4) 337625
042 144+9x2+6-4=_2
1 10 @ 2
£ 34 4) 64

043 AL 3T AeT ¥ wH T 28,000 J°T
35,000 Prgr o7 U@ AT g fan aw
F o ¥ e A ¥ o R H W A
6,250 firet | AT F e I AT

(1) 9,200 () T10,000
3y T11,250 @) T12250
044 Ot Tt o P T % 20 fopm Pasw &, 4
o wreh T & 1 Prger § el aw ol drelt

T ¥ or &
A 1:5 1 @y 1:4
(3) 4:15 @) 1:6
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039

040

041

042

043

044

NN e e e B RS s o S PR S S

- and
The sum of the greatest 4-digit number

the smallest 3-digit number is:
(1) 10000 (2) 10110
@3) 10099 @) 10999

The difference between the greatest ;?nd
the smallest 5-digit numbers formed using
the digits 0, 2, 5, 3 and 1, is:

(1) 45555 (2) 44444

(3) 43205 (4) 42975

Which of the following numbers is
divisible by 3?

(1) 518932 (2) 117342

(3) 213454 (4) 337625
144-9x2+6-4=_2

(1 10 @ 2

(3) 34 @) 64

Jayesh and Mohan started a business by

investing ¥ 28,000 and ¥ 35,000,
respectively. At the end of the year Mohan
received ¥ 6,250 as his share in the profit.
The total profit in the business, is:

(1) %9200 (2) 10,000

3) T11,250 4) T12,250

In a 20 kg mixture of yellow pulse and
black pulse, there is 4 kg black pulse. The
ratio of black pulse and yellow pulse in
the mixture, is:

1 1:5 )
(3) 4:15 “)

[Contd...



045 ﬁm%wzsrﬁmw%:

(1) 058 ) 0.62
@) 0625 @) 0.652

046 21 B T arwog wEal & A

w7 ) 67
3) 41 4) 48

047 MRUFANII AT GO W@ E?
oY FEE |1 {9 §&@S A ¥ )
IISY &g | faws deard e ¥
2 NI HEATSHT BT AT F&T ST G
B &1

QY A FEEISH BT O T WoT FEA
B ¥

(1) Faw ARD

(2) FE@BERC

(3) Ha@A,BaitC

(4) A,B.CsRD

O %>

048 30 F==F @I et & w1 wEn: T 450, T 300
a1 T 270 F fwan, @it qan fhae—dg @i
T YA T 30 Feai F qqER—a G G
T &S T B D T el & g an
(1) T30 2 232
»B) T34 4) T35

049 4009 9r< % & fg, 3509 991 2165 % TnT
F Q &1 g wie ?
(1) 3580
(3) 2665

(2) 3530

AT 1665
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045

048

049

.5 .
The decimal form of fraction 3 is:

@) 062

1) 0.58
i (4) 0.652

(3) 0.625

The sum of all prime number, less than
21,is:

m 77
(3) 41

2) 67
4) 48

Which of the following statements are

NOT correct?

A. Composite numbers are always even.

B. Prime numbers are always odd.

C.  Sum of two prime numbers is always
prime.

D. Product of two composite numbers
is always composite.

(1) AandD only

(2) Band C only

(3) A,BandConly

(4) A,B,CandD

A party was given to 30 children. Pizzas,
Burgers and Cold drinks were bought for
T 450, T 300 and T 270, respectively.
Everything was shared equally among 30
children. The cost of items given to each
child was:
(1) T30
(3) T34

2 T32
4) T35

What should be subtracted from the sum
of 3509 and 2165 to get 4009?

(1) 3580 (2) 3530
(3) 2665 4) 1665
[Contd...

050 fpe wiem & faam 3 400 st ¥ & 340 3w
o e | 36 STt @ e ¥

1) 60% @) 76%
(3) 80% “ 85%

051 € wean fresdr 20%, 10 % IET &, 8

(1) 30 (2) 40

_Br 50 4) 56

052 afs feel e &1 46%, 115 ¥, o 3&@ den
&1 150% a1 ¥ ?

(1) 300
(3) 415

@) 275
Ay 375

[
053 o7y 3 TF B H 120° F. 7% T Rear mam|
TR F TR A 34° . "2 T R a9
THB! AIH 45° /. ST T BS BT =1

T T ¥ ?
(1) 165°C (2) 154°C
3y 131°C @) 79°C

054 T T4 B 62° C AOHE d@ T fhar T

T 1 qeEE ol sz ¥
—T) 143.6°T% 2) %4°uw
(3) 664°Tuw 4) 30°u=s

HI/OLABH/6/24_A]

050 In an examination Divya scored 340 marks‘
out of 400 marks. The percentage of
marks. she scored is :

(1) 60% )
3) 80% “4)

76%
85%

051 The number whose 20% is equal to 10, is:

(1) 30 (2) 40
(3) 50 ) 56

052 If 46% of a number is 115, then what is
150% of the number?

275
375

(1) 300 )
(3) 415 )

053 A metallic rod was heated to a temperature
of 120° C. Later, its temperature reduced
by 34° C and then its temperature was
raised by 45° C. What is the present
temperature of the rod?

(1) 165°C )
3) 131°C (4)

154° C
79° C

054 A vessel is heated to a temperature of
62° C. The temperature of the vessel in
degree Fahrenheit is :

(1) 143.6°F
(3) 664°F

(2) 94°F
4) 30°F

1" [Contd...
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055 @ 3 T A B X 1,18,000 ¥ @ | 055 Jaspal purchased an olcjl car f(.)r 1,18,000 059 PreifiRam =i = amré 5w & R weand | 059 Whiich of the following fractions will be
3R T 7,000 36% TE—T@Tg 13 =g B AR and spent ¥ 7,000 on its maintenance. If 3 & At e aT e et g 7 atthe third place from the left, when t'hesi
' Id the car for T 1,40,000, then his fractions are arranged in ascending order”
ST 78 B T 1,40,000 ¥ 3y, 3 36 A he so X 2579
wiera &: profit percentage is : 36312 2579
() 10% @ 1% (1) 10% @ 1% 2 5 Pos
12.5% | 1) = =
& 12% @ 12.5% @) 12% @ 1% 3 2% m 2 @ 2
7 9
A 2 7 9
056 W*“"?W%meﬁﬂr 056 The supplementary angle of the &) 8 “ 14 (3) r ) 1
2 complementary angle of one tenth of a
right angle will be : 222 2
) 99° () 88° 060 =, = 2 < fr=y @ oraiel s ¥ syafed ions 2.2 2 2
1) 99° 2) 88° 9°5° 117 060 Arrange the fractions =, =, = in
G) 81° @ 101° M @ 9’5 11’7
(3) 81° 4) 101° HR descending order :
2 222 222 2 2 22 222 2
057 f5dt e & am ¥ B FEEHI n =T = s, O -5t @ IL55=
B g 057 The supplementary angle of three times 17975 /(2) 5791 1795 5791
of the half of a right angle is: @ 2222 4 2222 @ 2222 (4 2222
A 3 ST T T T T 9’5711’ 7 9’7’
A. Acute angle 95117 11°9°7°5 11°9°7°5
B. B. Obtuse angle s 4 7 p s 4 7
. T : 061 =, — — 2 2 061 The largest the fractions =, —, —
c C. Right angle 9’11 12”13 Pt 3 @ wrd e pestamong fae c10n59 11 12
D. g &1 e i
D. Half of a right angle o 5 - 4 and i’ is
(1) FawA @@ ¥mC (1) OnlyA ) onlyC 9 Tl 13
FAAID (4) F@BaRC (3) OnlyAandD (4) OnlyBandC 7 W 5 5 4
6) — @ S 9 @ o
12 11
13 ;
/@ Q5% pf A x w1 A R 058 In the given figure, the value of x is 1 3) I @) %
062 %Wﬁ*ﬁﬂ %ﬁ'wa‘mm
M 32 50° e 7 062 What should be added to % oget 39
S
/<,\-_°>\ ﬁ?\ (1) é ) % n 1 2 1
' 65 @ 3
144 9 144
w8 @ 9% ) 8 @ % s @ - @ W @ 2
(3) 100 (4),/98 (3) 100 @) 98 65 17
HIOLABHIS/24 A] 12 -5 13
HI/OLABH/6/24_A] 12 [ Contd... S B [ Contd...
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063 @.lw@-u&muﬁmaw‘c

-l w1

A, FERATNT | =g

B. g9® &w 1.
e s &
AT

C. wmaAwTA Il onfga
Wi ¥ s
A TEETS

D. FwHmham IV. frwm
s g W
TR FW ¥

et & § wét faew g

(1) A-IIl, B-I,C-11, D-IV

& ALB-IV,C-L.D-II

(3)  A-IL B-IIL, C-1V. D-1

(4)  A-IV, B-IIL C-I1, D-I

ENEIE

064

amph ¥ O g9 @ H% 1A AB=8FWE,
qr OP & W B

(1 6¥R 25 4
(3) 38 4) s

HI/OLABH/6/24_A]

063 Match List-1 with List-11 :

List-I List-11
A. Halfofacircle I.  Diameter
B. Halfofthe II. Centre of
longest chord circle
of a circle
C. The line 1. Semi Circle

segment which
divides a circle
in two equal
parts
D. All diameters IV. Radius
of a circle
intersect at a

point

Choose the correct option from the below:

(1) A-11, B-I, C-II, D-IV
(2) A-IIL, B-1V, C-1, D-I1
(3) A-II, B-III, C-1V, D-1
(4) A-1V,B-III, C-II, D-1

064 »

In the figure O is the centre of the circle.

If AB = 8 cm then the length of OP is :

(1) 6cm (2) 4cm
(3) 3cm (4) Scm
[Contd...

065 FT$ % A gl fred @t waa: 7 @,
7.5%qar 9.5 N ¥, o uaenE sAfirhan wam
% gae ¥ e T ¥ | B 73 A e
@) ¥

(1 25 @2 30
(3) 40 @ 50

066 2 TEaS & wyaw HIEE qd TETH
wEaadS 150 aar 25 ¥ 1 AR demnel % @
g 75 ¥, @ qEl e

1 29 2 32
(3) 40 47 50

067 TH HFER A Th Ae ol TH FE HAM:
% 1,900 3T T 600 ¥ @Y | 3a A aqd
3iftRa B 15% W & iy I affed ¥ A
ol gt & f feare e g ?

(1) T2,515
@) 2,590
(3) %2785

22875

HI/OLABH/6/24_A]

065 Three cloth pieces of length

3\,

7m, 75m
and 9.5 m respectively are cut in picces of
identical maximum length. The length of

each small piece (in cm), is :

1y 25 (2) 30
(3) 40 @) 50

The LCM and HCF of two numbers are
150 and 25, respectively. If one of the

numbers is 75, then the other number is :

(1 29 2 32
(3) 40 @) 50

067 A shopkeeper bought a table and a chair

for T 1,900 and T 600, respectively. He
sold both the items to Ankit with 15%
profit. How much Ankit paid for the table
and the chair?

Qo0 , 20, o

(1) %2515
700) 203 (!
ARl
(@) ¥2,590 — 00 (1Y
i
[}
(3) ¥2,785 Yoo
ErEdt
) o (n
4) T2875 208
@ox f P}xﬂr [Contd...
n T ) 0~
to* =< ’.‘ﬁf
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068 2.6 feera™ + 3 fFem 700 Iy = 2
(y 6 Redrm 300 7w
() 5.6 fpwnmy
(3) 5 fdrum 300
4) 6.7 fmm
069 T 3" g e fammd 3 &t x gl x 9
¥R ¥, 3 Rawex us o T e &
T
A 6%k (2) 43R
3) 38 4) S5&h
070 3113 BR v, f T & el &1 fpemr 2 A &,
H U@ 21 9H 91 & fQ FaRed frar mm
T3 O B e (S W) ¥
(1) 48 ) 60
B3 64 @ 72
071 af¥ 420 g=l &1 g9 T 2,520 &, @1 8 T
I & g &
(1) T 480 (2) T528
(3) %540 4y T576
072 3ft 16 & &1 q7a T 1,520 &, @ 3 =i 0
qed B
(1) T240 () %255
(3) %270 @y T285
HI/OLABH/6/24_A ] 16

068

069

070

07

—

072

26kg+3kg700g=_7

(1) 6kg300g

(2) 5.6kg

(3) Skg300g

4) 6.7kg

The side of a cube formed by melting a

solid cuboid with dimension

3cmx8cmx9cmis:

(1) 6cm (2) 4cm

(3) 3cm 4) Scm

Eight small cubes each having edge

2 cm are arranged to, form a large cube.

The volume of the large cube (in cm?3) is :

(1) 48 ) 60

(3) 64 4) 72

If the cost of 420 oranges is ¥ 2,520 then

the cost of 8 dozen oranges, is :

(1) T480 (2) Ts28

(3) T540 4) T576

If 16 bags cost X 1,520, then the cost of 3

bags will be:

(1) T240 @) %255

3) %270 (4) %285
[Contd...
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agmﬁ,m-mawamm
THDHI & AT E ?

m Haw LedW Lc

(2) ¥ Le

)G’{Qﬁlﬂle ‘

(4) ®aEw Le, Le, Lf qdq Lg
074 20 g e @ Ry =T 146° e | 074
82° % 2 Frol ¥ oI § 26° otftr ¥
(1) =g
(2) frewa
By
() e

075 fredh et & X BT WA 40° ST 50° ¥1 | g
TS T H T i 36 Bogst @ Am
T@:

(1) g e =g v
)" T won ww g
(3) wwfag Qe s g
(4) Forawarg un st fogw

HI/OLABH/6/24_A | ny 17
i
/x 3 @ % 1; .@
WX”@ - o

Which of the angles in the given figure is/
are equal to three right angles?

(1) Ze and Zc only
(2) Zc only
(3) Ze only

(4) Ze, ZLc, 4f and £g only

Name the type of an angle whose measure
is 26° more than the difference between
the angles 146° and 82f.

(1) acute angle
(2) obtuse angle
(3) rightangle
(4) reflex angle

Two angles of a triangle are 40° and 50°,
respectively. Name the triangle based on

sides and angles.

(1) Scalene and acute angled triangle 9.0
(2) Scalene and right angled triangle

(3) Isosceles and obtuse angled triangle

(4) Scalene and obtuse angled triangle

. ‘;’2 v 1o [ Contd...
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frder - 7T 997 & TR fAmeq &1 9% w97 @1 Fad
% w¢) IaT &1 9 Vg Fawey Bt g sk OMR
SIS TT GIUT T B} BT I

fam - < : g
076 fr=fafed ® S A N P w9 ¥ =ahag
FHfg -
(A) w™
1(B) &
© @
(D) gz
(E) ™
Prefafen fraeal & ¥ w8 39 @ w0
B -
) (E). (B). (A), (D). (C)
) (B). (E). (A), (D). (C)
(3) (B).(E). (A). (C). (D)
4)  (B).(E)(C).(A), (D)

077 3k (X) & wet ador-yferfer ot wam it :

AN AN Y

(X) (a) (b) () (d)
(1) (a) (2) (b)
P © 4) (@
078 frfafaa e ¥ g T & 5| B -
HFD, NLJ, TRP, _? .
a1 YWV 2) Zyw
¥ ZXV 4 Zyv
079 & T gaEen § g T s BRI —
0,3,2,15,24
1y 2 2 4
78 @ 13
HI/OLABH/6/24_A ] ) 100!
d@ié

Instructions : Each question has Jfour options.
There is only one correct answer to each
question. Choose the MOST APPROPRIATE
option and darken/blacken the corresponding
circle on the OMR Answer Sheel.

SECTION - ‘C’ : INTELLIGENCE
076 Arrange the following in top to bottom

order:

(A) Hand

(B) Face

(C) Heel

(D) Knee

(E) Neck

Choose the correct option from the

following:

(1) (E), (B, (A), (D), (C)

(2) (B), (E),(A), (D), (O)

(3) (B). (), (A), (C), (D)

4 (B), (E), (C), (A), (D)

077 Choose the correct mirror image of the
figure (X) :
X) @ ®  (© @
1) (@ 2 ®
3) © @ @
078 Find the missing term in the following
series:
HFD, NLJ, TRP, _? .
1 Ywv 2) Zyw
(3) ZXV @) Zyv
079 Find the missing number of the series:
0,3,2,15,24
1 2 2) 4
A3) 8 “4 13
8 HFD . N LJ, TRP L_Contd“.
T4
\*J’

080 (::)% T W ¥ 4 fag T 2 97 % WA | 080 There is a certain relationship between B0

Prfem Ty ¥ 1w g < A g =
wE?

it (A vEY) : gy o gl 2.
(1) s=n

@) fafew

_A3)  AHH

@

081 frfefed geaedar @ oof B¢ :

C:3:L:2.
) s 2 2
(3) 8 w12

082 Preffad geaww &t of &Y :

ﬁt:‘gw::tﬁ;{:_?_.
(1) e (2)
(3 EEd @) fa=

| 083wy fare (?) & e W W R g

- OBH
B B
(3)@ M@

HI/OLABH/6/24_A]

081

082

083

given words on left side of (::). Choos€
the correct alternative for the missing term
using the same relationship.

Clock : Time :
()]
(2)
(3)
(O]

: Thermometer: __?__-
Heat

Radiation

Temperature

Energy

Complete the following analogy :
C:3:L:2.

1 s
3) 8

2 2
12

Complete the analogy :

Lion : Den :: Horse: _?2 .
(1) Byre (2) Bam
(3) Stable (4) Burrow

Complete the pattern :

1) @ (2)
oD
Z T
| [Contd...
[Cc



084 PrefoRad geawaan & gl &Y -

bd dup
1 2y
o \J A G

e (a)
3) :B (€))] & [d]
\¢J

[1]
a]2[5]:[1]
2

Q
3l=@b]ey: 2
\/

rUlNL

o

a

(4) fasafqaea

086 Preffi geasgar B o F
STAR : ATRS :: PLAN: _? .
4y ALNP
(2) ANLP
(3) ANPL
(4) LANP

LAp
ALN P

087 & ¢ Sj@en B A TEA T B ©
I
2,5.10, 2,26

GO N
(1) 24 — .t 17
3) 19 to3
fiza_A] 0 318,
HI/OLABH w 47

084 Complete the following analogy :

1 4 ﬂ
G5 O]z @lele: 2
3 5 ¢/

085 Choose the odd one out :
(1) School
(2) College
(3) Hotel
(4) University

086 Complete the following analogy :
STAR : ATRS :: PLAN : _? .
(1) ALNP
(2) ANLP
(3) ANPL
(4) LANP

087 Find the missing number of the given

series?
2,5,10, 2 ,26
(1) 24 2) 17
3) 19 @) 23
20 [Contd...

088 Frfafaa geawgar &) qof ¢ -

19’ 311
BDA:7:CAB:_? .

) 3
3) 5

£2) 6
(CONY

089 o= q = & s Y ¢

1) A= ) ;=
2 =g 4) =&

090 o= & fir= &Y s @Y -

1 121 2 99
3) 135 447 143

D91 o F fir =t gha

1891 EX e
A1) BEIK (2) CEGI
3) ACEG (4) BDFH

'’ 357 243

192 3§ P @Y st Y

|

B

()

HI/OLABH/6/24_A |

088

089

090

091

092

21

Complete the following analogy
BDA:7::CAB: 2 .

a1 3 (2 6

3) 5 @ 9

Find the odd one out :

(1)  Summer (@3]
(3) Season “4)

Winter
Spring

Find the odd one out :

(1) 121 2) 99
3) 135 (4) 143

Choose the odd one out :

(1) BEIK 2)
(3) ACEG )

CEGI
BDFH

Find the odd one out :

® ﬁ @

[Contd...



093 Freffad #1 T S8 Fa ¥ srafea A :
A) =¢ !
(B) "8 1
(C) s §
(D) @<
(E) f=
Ay g T R § @ w@ Rieq &1 99
ﬁﬁm_
«0) (D). (E). (B). (A). ()
(2) (E). (B). (D). (A).(C)

43

(4)  (E). (D). (A).(C), (B)

(E). (D). (B). (A), (C)

/093 srzais & o A w A Prefofaa st @
T afa it -

(A) LETTER
(B) LITTER

(C) LEMON @

(D) LITTLE

(E) LIZARD @

frr & ¥ w8 Ry &1 wgA SIvg —
(1) (C), (A). (D). (E), (B)

(2) (C). (D). (A). (B). (E)

(C). (A), (B). (D). (E)

@) (A). (C), (B). (D), (E)

HI/OLABH/6/24_A] 22

093 Arrange the following in the ascending

order.

(A) Year
(B) Month
(C) Century
(D) Week
(E) Day

Choose the correct option from those

given below:
(1) (D), (E), (B), (A), (O)
2) (E),(B), (D), (A),(C)
(3) (E), (D), (B), (A), (C)
(4) (E), (D), (A), (C), (B)

094 Arrange the following words as they occur
in the dictionary:

(A) LETTER
(B) LITTER
(C) LEMON
(D) LITTLE
(E) LIZARD

Choose the correct option from the
following:

1) (), (A), (D), (E). (B)
) (©), (D), (A), (B).(E)
(3) (C) (A). (B), (D).(E)
@) (A, (), (B), (D), (E)

[ Contd...

095 fa A 3R i B uw fafyre o & wafed ¥
Rl A RAGI A C e R=E DS
T GHM T W e & o weA fae

PEEL

(A) (B) © (D)

M @ @
,(Jﬂ/ *)

096 Preferfas snpR ¥ HH- g T fam
TH AME?

) Al @ [\
aIN] o X

097 - TEa 9s R (?) ¥ wm ux e ?

O, D)

1 8 A7
3) 9 “) 14
HI/OLABH/6/24_A ]
o °
G- gl
2

095 Figures A and B are related in a particular
manner. Establish the same relationship
between figure (C) and (D) by choosing a
figure from the alternatives, which
replaces the question mark (?).

TR

(A) (B) ©) (D)

) @ @
o B @

096 Which of the following shapes is a part of
the given figure?

| [ |

o /N e N
o X 0

097 Which number replaces the question

mark?
C%';@
®) as
1) 8 2 7
3 9 4) 14
23 [Contd...



098 Prefifad sEen ¥ | go o 7 Hifg -
abe, abec, abbee, _? , aabbecc, aabbbece.
(W)
)
3)
A

abbcca
aabbcce
aabcc

aabbcc

099 3§ w& fox @ =g g I § T sl
TE B BN -

S S
E ?
A 74 4

.
o

100 gmwaﬁxvliaﬁ(:
e : AT () G w2 .
(1) = (Fem)
A2 fes (w Rt W gd sd)
(3) it (Rawr)
@) aiw (AR)

D
<
Ve

- X
o )4

HI/OLABH/6/24_A ]

098 Find the missing term in the following
series:
abc, abcc, abbec, L, aabbccc, aabbbcecc.
M |
2
3)
(O]

abbcca
aabbccc
aabce

aabbce

Select the correct figure which will
complete the given grid -

X%
PIXID

S
$

¢S] (2)

=T
100 Complete the analogy :
Cricket : Bat :: Hockey 2.
(1) Field
(2) Stick
3
(O]

Player
Ball

24 [ Contd...

AT - T% 997 & a1 R &1 9% 997 &7 el
oo Wt 3T & 1 539G ey ) gd i OMR
FEyRawT I G g @t @ o |

fawm - ‘D’ : wE T

101 & @ % Rig St gega: W &3 &
1 wsema
@) P
_3) T FrEtersed §
@) whwd

102 ¥ &5 ¥ Y 9 el & fog oddl T
mmﬁ?ﬁmmﬂ%:
(1) 2 oo 8 &)
D) TR TR vl U Sas-arEs B ¥
(3) TETS! TIRY TEA G A
(4) e W H aftEeT-qraa T ex|

103 9 HAR &l sraRyad & ?
(1) e
@ 3
(3) oromER
M) tER

104 e 7 1 ofte et et ot v 2
(1) 365fF
@) 365 e
3) 3652
) 365%%

HI/OLABH/6/24_A]

Instructions : Each question has four oprions
There is only one correct answer 1o eacht
question. Choose the MOST APPROPRIATE
option and darken/blacken the corresponding
circle on the OMR Answer Sheet.

SECTION - ‘D’ : GENERAL KNOWLEDGE

101 We mainly get energy to do work from:
(1) Proteins
2)
3)
(C))

Vitamins
Fats and carbohydrates
Minerals

Children who live in the plains would find

it difficult to walk on the mountains

because:

(1) They are lazy.

(2) The paths are rocky and uneven.

(3) The paths are very smooth.

(4) There are no transports available on
mountains.

103 Where is Char Minar situated?

(1) Jaisalmer

(2) Puri

(3) Aurangabad

(4) Hyderabad

Earth takes how many days to revolve
around the Sun?
(1) 365days
1
?2) 365/‘ days

l
(3) 36572 days

1
4) 36SA days

25 [Contd. ..



- s c he oldes cr
105 wRrg @ - T AA-$eT 3% wrenpE) & | 105 Who is the author of the famous work, 109 disa 3 ¥ wad 7 W o A A E ? 109 What is the name of the eldest brothe
TEER AA E? *The Man-eater of Malgudi’? (1) m (2) oA among Pandavas?
. B gt 4) @t (1) Bheem (2) Arjun
(1) TE=E TR (1) Rabindranath Tagore () Yudishther (4) Kama
2) e sivs (2) Ruskin Bond o
@ 110 fg T H Fa g T A ¥ 7
. AT (3) RKK. Narayan 110 Bihu dance belongs to which State?
£y s M) Ty . (1) As: 4 (2) Guijarat
4) <. e (4) G.V. Desani . Sam 2 ujara
@ @) fuew @ (3) Bihar (4) Punjab
ﬁﬁ gy 106 AKhuntiis . | 11 s R 3 dfrede st @€ B9 # ) 111 Wahida Prism, Lieutenant Commander in
(1) fired w31 1@ ok (1) An implement used to dig the soil ey fod v & AT B 7 the Indian Navy is what type of a
©) AR B S % R AR & @ (2) Aniron pole to tie cattle (1) s . professional?
- drRdasifEr 1) Doct
(3) A earthen pot to cook food @ A M octor
(3) e T ¥g fred @ wdw G) @ (2) Software Engineer
X (4) A musical instrument 3) Chef
4) U@ a (4) oETE 3) €

(4) Teacher
107 You put a glass of water in the sun. After

107 IS T A T TR 2 days, the glass is empty. Where did the

112 2023 ¥ §¢ CRrar & ¥ WA 3 3o Reay ‘

— e e & 1 v e ? . | ot e o ? 112 How many gold medals did India win in
W water go? @ 2 @) 2 Asian Games held in 2023?
) & A & @ (1) It evaporated 3) 42 A4) 14 (1 28 (2) 52
(2) == wafva & (2) It condensed ¢ 4 i “ 14
PR 3) It froze @mmﬁwa%ﬁm%%mw 113 Which
. . ) 2 A ot whE @ T & 7 ich super sense is activated by langur
(4) & TEgA W wfvafia & (4) Tt turned into nitrogen 0 Lo o while warning others of danger?
(3) @ @) T [€)) Sig‘ht (2) Sound
@ T BT G e B A & 7 108 Best friend of soil is : ‘ (3) Skin (4) Smell
(1) ueh (1) Birds 114 frafefeq ¥ ¥ g oy ¥ § Exiticy i
q 4 g 114 Which one out of the following animals
By %y (2) Earthworms | P m ; ' has a very strong sense of smell?
3) e (3) Insects A @ @& (1) Rabbit (2) Ant
3 ‘ § i X
s @ Sukes (3) falt | 4 s (3) Cat (4) Monkey
HI/OLABH/6/24. A
HIOLABH/6/24_A 26 [ Contd.. Al 27 [ Contd...
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ns fr= 8 8 B 0 el g 82| 115 Which one of the following is a non- 119 3 ot T @ Rafe & fareit e @ | 119 Which solution is given when a person has
) W renewable resource? 2 st fear 37 vomitting and loose motions?
2 (1) Petrol (1) Frew - (1) Milk shake
) (2) Wind @) A (2) Lemon water
S qq 7 q
& (3) Bio-gas 3) we@E (3) Fruit juice
4)
\ (4) Solar oS (4) Salt and Sugar
@y T
116 - ¥ T@h § & awd ¥ 7 116 InJammu & Kashmir, what does ‘ Yakhni® 34 EE 120 Which one among the following is NOT
120 Pretfiae 8 & 7 G ST B AR 0D -
) e Fra R W g I A HIST refer to? wE? a natural way of food preservation?
Q) T ST = (1) A piece of cloth worn on head by (1) g (1) Drying
3 - men e (2) By adding preservatives
3) = wighs . . 2) @™ GLALEICEY
(2) A non-vegetarian dish @ \ 3 (3) Salting and sweetening
() I T (3) A cultural festival (3) T

| (4) Pickling
(4) A form of local dance } A4 R

117 e 3mg § Tedie form vy @ waifim € 7 1 21 Gt Bt & ey 3 o P & et 5 121 Which leaves can be kept in box to protect
() g 117 “Tadpole’ is in the larval age of which | ! 3 TR 7 the seeds from the insects?
animal? :
: | (1) Neem
(2) am
(1) Dog | sy A 5 Bany
35 s @ (2) Banyan
(2) Tiger (3) Banana
(4) @0 ‘ (3)
() Frog f (4) Mango
(4) Goat ! @ om
118 d, g wd firg 3 welt forerh gl @ o 3 ‘ 122 Prerfofias 3 3 fog o & 122 Which of the following works can NOT
qHa ¥ 118 Birds like kites, eagles and vultures can | i R’N P g be done with water that has been used
(1) @i see things from a distance of : = R T T & Ro t once?
(1) two meters (1) wef e ot (1) Mopping the floor
(2) TR R £y e T Y @
“ . (2) four meters | o (2) Washing hands and face
) s ) ‘ '
(3) eight meters OR LR (3) Watering plants
(@) e (4) twenty meters { (4) s ¥ R SO (4) Using in the toilet
HI/OLABH/6/24_A | 28 [Contd.. | HI/OLABH/6/24_A 29 [Contd...



T

123 fFrfafea § @ f6w 99 &1 Swge g @1 | 123 Which of the following devices is used to

ArE AR & fora fopar srar & 2 measure body temperature?
(1) St (1) Lactometer

2) Iz (2) Barometer
~3)  uddey (3) Thermometer

(4)  webirey (4) Speedometer

124 oA eaw & %z ¥ Row % ¥ por ey

124 How many spokes are there in the wheel

T ¥ ? placed in the centre of the Indian flag?
(1) w»s| (1) Twenty six

2 I9w (2) Twenty four

(3) zFE (3) Twenty one

(4) gIrEH

(4) Twenty eight

125 ‘THEY & TERA B &7

125 Who wrote ‘Ramayana’?

N (1) Valmiki ‘
(2) e

(2) Vedvyas |
(3) wfereE _

(3) Kalidas
(4) FHLET

(4) Gyaneshwar
HI/OLABH/6/24_A] 30 [ Contd...




